

Fie $X' \in (B'N')$ și $Y \in (AP)$. Notăm $\frac{X'B'}{X'N'} = x$, $\frac{YP}{YA} = y$, $\frac{ZA}{ZB} = z$. Să se demonstreze că planele $(AA'X')$, $(BB'Y)$, $(CC'Z)$ se intersectează după o dreaptă dacă și numai dacă $x \cdot y \cdot z = 1$.

BIBLIOGRAFIE

- [1] D. Brânzei, A. Zanoschi, *Geometrie. Probleme cu vectori. Clasa a IX-a*, Ed. Paralela 45, 1999.
- [2] D. Heuberger, N. Mușuroia, *Generalizări ale teoremei lui Ceva*, Argument, Anul 3, 2001, pag. 32-34.
- [3] T. Bârsan, *Generalizări ale teoremei lui Ceva și aplicații*, Recreații matematice, Anul IV, nr. 2, 2002, pag. 10-14.

SOME APPLICATIONS OF A LIMIT PROBLEM

ALINA SÎNTĂMĂRIAN¹⁾

Abstract. We solve some problems using a limit problem which we proposed in *Gazeta Matematică* in 2007.

Keywords: sequence, convergence, limit.

MSC : 40A05.

L. Pârșan [3] proposed in *Gazeta Matematică*, in 1978, the following problem.

Problem 1. Let $a, r \in (0, +\infty)$ and let $(a_n)_{n \in \mathbb{N}}$ be the sequence defined by $a_n = a + (n-1)r$, for each $n \in \mathbb{N}$. Evaluate $\lim_{n \rightarrow \infty} \frac{a_{2n+1} a_{2n+3} \cdots a_{4n+1}}{a_{2n} a_{2n+2} \cdots a_{4n}}$.

(The limit is $\sqrt{2}$.)

We mention that $\mathbb{N} = \{1, 2, \dots, n, \dots\}$.

We have given a generalization of Problem 1.

Problem 2. (*A. Sîntămărian* [4], [5]). Let $k \in \mathbb{N} \cup \{0\}$, $p \in \mathbb{N} \setminus \{1\}$, $q, s \in \mathbb{N}$ and $a, r \in (0, +\infty)$. We consider the sequence $(a_n)_{n \in \mathbb{N}}$ defined by $a_n = a + (n-1)r$, for each $n \in \mathbb{N}$.

Evaluate $\lim_{n \rightarrow \infty} \frac{a_{qn+k+1} a_{qn+k+1+p} \cdots a_{qn+k+1+s(n-1)p}}{a_{qn+k} a_{qn+k+p} \cdots a_{qn+k+s(n-1)p}}$.

(The limit is $\sqrt[p]{\frac{ps+q}{q}}$.)

Using the above-mentioned problem, we have found the following limits (we specify that the notations are those from Problem 2):

$$\lim_{n \rightarrow \infty} \sqrt[n]{\frac{a_{qn+k} a_{qn+k+p} \cdots a_{qn+k+s(n-1)p}}{(n!)^s}} = \left(\sqrt[p]{\frac{ps+q}{q}} \right)^q [(ps+q)r]^s \quad ([4], [5]);$$

¹⁾Professor, Department of Mathematics, Technical University of Cluj-Napoca, E-mail: Alina.Sintamarian@math.utcluj.ro .

$$\lim_{n \rightarrow \infty} \frac{\sqrt[p]{a_{qn+k} a_{qn+k+p} \cdots a_{qn+k+s(n-1)p}}}{n^s} = \left(\sqrt[p]{\frac{ps+q}{q}} \right)^q \left[\frac{(ps+q)r}{e} \right]^s \quad ([4], [5]);$$

$$\lim_{n \rightarrow \infty} \frac{\binom{4n}{2n}}{4^n \binom{2n}{n}} = \frac{\sqrt{2}}{2} \quad ([1],[5]); \quad \lim_{n \rightarrow \infty} \frac{4^n \binom{4n}{2n}}{\binom{2n}{n} \binom{8n}{4n}} = 1, \quad ([1]);$$

$$\lim_{n \rightarrow \infty} \frac{3^{3n} \binom{2n}{n}^2}{\binom{3n}{n} \binom{6n}{3n}} = 2 \quad ([5]).$$

Further on we shall give other problems which can be solved using the limit from Problem 2.

Problem 3. Evaluate $\lim_{n \rightarrow \infty} \frac{5^{5n} \binom{2n}{n}^3}{\binom{10n}{5n} \binom{5n}{n} \binom{4n}{2n}}$.

Solution. We have:

$$\begin{aligned} x_n &:= \frac{5^{5n} \binom{2n}{n}^3}{\binom{10n}{5n} \binom{5n}{n} \binom{4n}{2n}} = \frac{[(5n+5)(5n+10) \cdots (10n)]^5}{(5n+1)(5n+2) \cdots (10n)} = \\ &= \left[\frac{(5n+5)(5n+10) \cdots (10n)}{(5n+4)(5n+9) \cdots (10n-1)} \right]^4 \cdot \left[\frac{(5n+4)(5n+9) \cdots (10n-1)}{(5n+3)(5n+8) \cdots (10n-2)} \right]^3 \times \\ &\times \left[\frac{(5n+3)(5n+8) \cdots (10n-2)}{(5n+2)(5n+7) \cdots (10n-3)} \right]^2 \cdot \frac{(5n+2)(5n+7) \cdots (10n-3)}{(5n+1)(5n+6) \cdots (10n-4)}, \end{aligned}$$

for each $n \in \mathbb{N}$.

Choosing $a = r = 1$, $p = 5$, $q = 5$ and $s = 1$ in Problem 2, we obtain:

$$\lim_{n \rightarrow \infty} \frac{(5n+k+1)(5n+k+6) \cdots (10n+k-4)}{(5n+k)(5n+k+5) \cdots (10n+k-5)} = \sqrt[5]{2},$$

for each $k \in \{1, 2, 3, 4\}$. So:

$$\lim_{n \rightarrow \infty} x_n = (\sqrt[5]{2})^4 (\sqrt[5]{2})^3 (\sqrt[5]{2})^2 \sqrt[5]{2} = 4. \quad \square$$

Problem 4. Let $p \in \mathbb{N} \setminus \{1\}$ and $\alpha, \beta \in \mathbb{N}$, with $\alpha < \beta$. We consider the sequences $(x_n)_{n \in \mathbb{N}}$ and $(y_n)_{n \in \mathbb{N}}$, with $x_1 \neq 0$ and $y_1 \neq 0$, defined by the recurrence relations :

$$nx_{n+1} = \left(n + \frac{1}{p} \right) x_n \quad \text{and} \quad ny_{n+1} = (n+1)y_n,$$

for each $n \in \mathbb{N}$.

Evaluate $\lim_{n \rightarrow \infty} \frac{y_{\alpha n}(x_{\alpha n} + x_{\alpha n+1} + \cdots + x_{\beta n})}{x_{\alpha n}(y_{\alpha n} + y_{\alpha n+1} + \cdots + y_{\beta n})}$.

Solution. Having in view the recurrence relation $nx_{n+1} = \left(n + \frac{1}{p}\right)x_n$, for $n \in \mathbb{N}$, we can write that:

$$\prod_{j=1}^n px_{j+1} = \prod_{j=1}^n (pj + 1)x_j,$$

$$\sum_{j=1}^n px_{j+1} = \sum_{j=1}^n [p(j-1)x_j + (p+1)x_j],$$

for each $n \in \mathbb{N}$. We get:

$$x_{n+1} = \frac{(p+1)(2p+1) \cdots (np+1)}{p(2p) \cdots (np)} x_1,$$

$$x_1 + x_2 + \cdots + x_n = \frac{pn}{p+1} x_{n+1},$$

for any $n \in \mathbb{N}$. Therefore:

$$\begin{aligned} x_{\alpha n} + x_{\alpha n+1} + \cdots + x_{\beta n} &= \frac{p\beta n}{p+1} x_{\beta n+1} - \frac{p(\alpha n - 1)}{p+1} x_{\alpha n} = \\ &= \frac{p\beta n}{p+1} \cdot \frac{(p+1)(2p+1) \cdots (\beta np + 1)}{p(2p) \cdots (\beta np)} x_1 - \frac{p(\alpha n - 1)}{p+1} x_{\alpha n} = \\ &= \frac{p\beta n}{p+1} \cdot \frac{(\alpha np + 1)((\alpha n + 1)p + 1) \cdots (\beta np + 1)}{(\alpha np)((\alpha n + 1)p) \cdots (\beta np)} x_{\alpha n} - \frac{p(\alpha n - 1)}{p+1} x_{\alpha n}, \end{aligned}$$

for each $n \in \mathbb{N}$.

The above relations, obtained for the sequence $(x_n)_{n \in \mathbb{N}}$, hold for $p = 1$ too. Hence:

$$y_{n+1} = (n+1)y_1,$$

$$y_{\alpha n} + y_{\alpha n+1} + \cdots + y_{\beta n} = \frac{(\beta^2 - \alpha^2)n + \alpha + \beta}{2\alpha} y_{\alpha n},$$

for each $n \in \mathbb{N}$.

It follows that:

$$\begin{aligned} \frac{y_{\alpha n}(x_{\alpha n} + x_{\alpha n+1} + \cdots + x_{\beta n})}{x_{\alpha n}(y_{\alpha n} + y_{\alpha n+1} + \cdots + y_{\beta n})} &= \frac{2p\alpha\beta n}{(p+1)[(\beta^2 - \alpha^2)n + \alpha + \beta]} \times \\ &\times \frac{(\alpha np + 1)((\alpha n + 1)p + 1) \cdots (\beta np - (\beta - \alpha)p + 1)}{(\alpha np)((\alpha n + 1)p) \cdots (\beta np - (\beta - \alpha)p)} \times \\ &\times \frac{(\beta np - (\beta - \alpha)p + p + 1) \cdots (\beta np + 1)}{(\beta np - (\beta - \alpha)p + p) \cdots (\beta np)} - \frac{2p\alpha(\alpha n - 1)}{(p+1)[(\beta^2 - \alpha^2)n + \alpha + \beta]}, \end{aligned}$$

for each $n \in \mathbb{N}$.

Choosing $a = r = 1$, $k = 0$, $q = \alpha p$ and $s = \beta - \alpha$ in Problem , we obtain:

$$\lim_{n \rightarrow \infty} \frac{(\alpha np + 1)((\alpha n + 1)p + 1) \cdots (\beta np - (\beta - \alpha)p + 1)}{(\alpha np)((\alpha n + 1)p) \cdots (\beta np - (\beta - \alpha)p)} = \sqrt[p]{\frac{\beta}{\alpha}}.$$

So:

$$\lim_{n \rightarrow \infty} \frac{y_{\alpha n}(x_{\alpha n} + x_{\alpha n+1} + \cdots + x_{\beta n})}{x_{\alpha n}(y_{\alpha n} + y_{\alpha n+1} + \cdots + y_{\beta n})} = \frac{2p}{p+1} \cdot \frac{\frac{\beta}{\alpha} \sqrt[p]{\frac{\beta}{\alpha}} - 1}{\left(\frac{\beta}{\alpha}\right)^2 - 1}. \quad \square$$

Regarding Problem see [7]. Some particular cases of Problem we have given in [5, problems 66, 67] (see as well [6], [2]).

Problem 5. Let $\lambda, \mu, \alpha, \beta \in \mathbb{N}$, with $\lambda \neq \mu$ and $\alpha < \beta$. We consider the sequences $(x_n)_{n \in \mathbb{N}}$ and $(y_n)_{n \in \mathbb{N}}$, with $x_1 \neq 0$ and $y_1 \neq 0$, defined by the recurrence relations:

$$nx_{n+1} = \left(n + \frac{1}{\lambda}\right)x_n \quad \text{and} \quad ny_{n+1} = \left(n + \frac{1}{\mu}\right)y_n,$$

for each $n \in \mathbb{N}$. Evaluate $\lim_{n \rightarrow \infty} \frac{y_{\alpha n}(x_{\alpha n} + x_{\alpha n+1} + \cdots + x_{\beta n})}{x_{\alpha n}(y_{\alpha n} + y_{\alpha n+1} + \cdots + y_{\beta n})}$.

Solution. Let $(z_n)_{n \in \mathbb{N}}$ be a sequence, with $z_1 \neq 0$, defined by the recurrence relation $nz_{n+1} = (n+1)z_n$, for each $n \in \mathbb{N}$. Using Problem , we can write that:

$$\begin{aligned} & \lim_{n \rightarrow \infty} \frac{y_{\alpha n}(x_{\alpha n} + x_{\alpha n+1} + \cdots + x_{\beta n})}{x_{\alpha n}(y_{\alpha n} + y_{\alpha n+1} + \cdots + y_{\beta n})} = \\ & = \lim_{n \rightarrow \infty} \left[\frac{z_{\alpha n}(x_{\alpha n} + x_{\alpha n+1} + \cdots + x_{\beta n})}{x_{\alpha n}(z_{\alpha n} + z_{\alpha n+1} + \cdots + z_{\beta n})} \cdot \frac{y_{\alpha n}(z_{\alpha n} + z_{\alpha n+1} + \cdots + z_{\beta n})}{z_{\alpha n}(y_{\alpha n} + y_{\alpha n+1} + \cdots + y_{\beta n})} \right] = \\ & = \frac{2\lambda}{\lambda+1} \cdot \frac{\left(\frac{\beta}{\alpha}\right)^{\frac{\lambda+1}{\lambda}} - 1}{\left(\frac{\beta}{\alpha}\right)^2 - 1} \cdot \frac{\mu+1}{2\mu} \cdot \frac{\left(\frac{\beta}{\alpha}\right)^2 - 1}{\left(\frac{\beta}{\alpha}\right)^{\frac{\mu+1}{\mu}} - 1} = \frac{\lambda(\mu+1)}{\mu(\lambda+1)} \cdot \frac{\left(\frac{\beta}{\alpha}\right)^{\frac{\lambda+1}{\lambda}} - 1}{\left(\frac{\beta}{\alpha}\right)^{\frac{\mu+1}{\mu}} - 1}. \quad \square \end{aligned}$$

BIBLIOGRAFIE

- [1] ***, *Teste grilă de matematică. Admitere 2008 (Mathematics Grating Tests. Admission 2008)*, Editura U. T. Press, Cluj-Napoca, 2007.
- [2] I. Alexandrescu, *Problem 16196 (Solution)*, Gaz. Mat. Seria B, **82** (4), 1977, 139–141.
- [3] L. Pârșan, *Problem 17263*, Gaz. Mat. Seria B, **83** (6), 1978, p. 250.
- [4] A. Sîntămărian, *Problem C: 3226*, Gaz. Mat. Seria B, **112** (10), 2007, p. 554.
- [5] A. Sîntămărian, *Probleme selectate cu șiruri de numere reale (Selective Problems with Sequences of Real Numbers)*, Editura U. T. Press, Cluj-Napoca, 2008.
- [6] A. Sîntămărian, *Some convergent sequences and series*, Int. J. Pure Appl. Math. **57** (6), 2009, 885–902.
- [7] A. Sîntămărian, *Problem 11528*, Am. Math. Mon. **117** (8), 2010, p. 742.